	Equilibrium










	Le Chatelier’s Principle

	Too cold?

N2 (g) + 3H2 (g)  2NH3 (g) + 92.05 KJ

	Too hot?

N2 (g) + 3H2 (g)  2NH3 (g) + 92.05 KJ


	Too reactants?

N2 (g) + 3H2 (g)  2NH3 (g) + 92.05 KJ

	Too many products?

N2 (g) + 3H2 (g)  2NH3 (g) + 92.05 KJ


	Too much pressure?

N2 (g) + 3H2 (g)  2NH3 (g) + 92.05 KJ





*only care about___________________
	Too little pressure?

N2 (g) + 3H2 (g)  2NH3 (g) + 92.05 KJ





*only care about___________________

	Equilibrium Hashtag:


#
	Equilibrium Knock-Knock Joke:
Person 1: Knock Knock!
Person 2: Who’s there?
Person 1: ________________________________ ________________________________________
Person 2:  ________________________________ ___________________________________ who?
Person 3: ________________________________ ________________________________________ ________________________________________                                



